REAR MOUNT

B/N DESCRIPTION MODEL ET1747L SERIES
207 124-001 |ETI747L-6CWF -1
238212-001 |ETI747L-7CWF - |
&OQ 136650-001 |ETI/747L-8CWF - |
%\ E&S5776-001 [ETI/47L-9SWF - |
QO DA45620-001 |ETI747L-9UWF - |
Do55621-001 |ETI747L-0NWF - |
i : - |0
F90355-000 ET 17470 -1SWF - | r DETAIL
FRONT/PANEL D74916-000 ELO-PLATE T ey CENTERING LIP
MOUNT BEZEL MODUL AR -LCD ) SCALE 1
453
417
SEE DETAIL
= 1ed 09 CENTERING LIP 100
o o 3 / D? el —soll I ee — T-lo 110
: @ (o @
v - N N @ =ESSS=SS=SSSSSSSSSSSSSE:5:5% EEEEZE
$ $ 1 e Q0000606000600 000 A\ 00 OOOOOOOOOOOOl S
@ @OOOOOOOOOOO [e]lfo Ne] (oo} O0000000O0O0O0O0 ®
® | |oooeooe0ooogaen | 19589500050 0080000
L 00008000000 [o]foX(e] (o] OOOOOOOOOOOO@
338 B 20020000000 [e]lfo Ne] [o)e} 600000000000
(ACTIVE AREA) o K
= e — I R = S
275 ‘ZO 0O 0 0( O00O0 o@ !
270 ' 218 1 C (::D b 15 o0 311
[eNeXNe) 0000
341 _ (ACTIVE AREA) DJL = co0] (0000] o ° | -
— | )] @
H e s o - [ oo ]
4>< 43 @og o ggg {11 E— 11| — 11— 11} =
(o] @ @ [oNeN=) 72000800000 %%
® O o oO0O0 B -
o chE INc
| & \L J, e l i 2‘, 1 ® _ ® (O
N N - | D AP so T~ olp [0~ FIo
| 346 = =AY 3.3 - 58 —— 389
DIGITAL ANALOG
VDEO“ VIDEO
| \ | - 67 —
e W
B ] ammm o @i35ss
AN
TOUCH TOUCH POWER NOTED DIMENSIONS ARE FOR NON-TOUCH,
\NTERF@%% gEgE‘EEACE CONNECTOR ACCUTOUCH, AND INTELLITOUCH ONLY.
FOR SECURETOUCH AND INFRARED TOUCHSYSTEMS
ADD 3.5 MM TO EACH MEASUREMENT. 3D CAD FILES AVAILABLE MS500485
DIMENSTONS ARE IN MILLIMETERS SHT. 1 OF 5 DATEI;{E1\‘;--NEOV-05




REAR MOUNT
PLATE CUT OUT

-~ 3477
3477 o :
453 0 4X R5.8 -~ 290 — =
70 =
L e 4X R5.8 T | ¢T—27> S
|
1 ) | / ? |
| | |
‘ ‘ / \ + s s
i - | i 232 * f ¢
279*& i |
. ‘
********** T‘*******"***4** ¢ 279*& ¢ *‘**"**‘**“"‘**‘** -\ — 325 ‘**‘**‘*******T********"‘**‘** ¢
* * + | 275
i ‘ 279", |
| | 22 | : | ]
1 ‘ | + 1¢ +
| . |
‘ | / |
| | \‘ L
¢ | '8
¢ 408
HORIZONTAL VERTICAL
INSTALLATION INSTALLATION THRU HOLES
(NO BRACKET)
INSTALLATION

DIMENSTONS ARE

IN MILLIMETERS

.
00000000
I
E 0000000000
° 0000000000
0000000000
o

©000000
°

o
o
o

©06000000
©0000000

MElen
5
00000000
o
o
o
o
o
-

Q1 ] -

NOTES FOR ALL MOUNTING OPTIONS

N/ Jlalsl —eal Jol0) [ae Telalld N
) 4
b?‘ . — E— R D )
(]
o
L]

000000000000000
9l 000000000000000
000000000000000

0000000000
0000000000
000000000
©00000000000000 ©000000

000000000000000

o

o

o

o

[ [

000000000000000 o o
o o

o
000
000
000

000000000
000000000
000000000
000000000
©00000000

00000
00000
00000

00000000000 () 00000

©00000000000
©00000000000

. ALL DRAWING CENTERS ARE THE CENTER OF VIEWABLE AREA OF THE LCD PANEL,

2. IF CUSTOMER KIOSK MATERITAL

IS WOOD:

@4.5 MM HOLES THRU FOR M4 SCREWS,
SCREWS FOR WOOD @4 MM,

OR NO THRU HOLES,

3. IF CUSTOMER KIOSK MATERTAL

IS SHEET METAL:

CONCEALED HEAD THREADED STUDS M4 WITH NUTS.

SHT. 2 OF 5

TOUCHSYSTEMS

MS500485

DATE: 14-Nov-05

REVE




FRONT PANEL MOUNT OPTION
ey MODEL ET1747L SERIES
453 417
100
A 5 ol o -~ 75 =
? ©@[ e el ° o [@]® [[Mee °Je 1@ N/
D [ ® ) @
7 N @ ]gggggggggggcggggggggii S S S8383S838 @
o | ksl 60000000060d000 [ Joobaooooooocoooal| | @
® o ® [aNaNaNoNoNoNoNoNoNoNoNeNolloNe) 000 000000000000
® o ° 000000000 0Q000 [CN=X) O00O00O0O0O0O0O0O0OO0
oo 00000000000d000 | |oobdeccoocooooao [®
(1] ) i W\A m@ © *f
[ . 338 —] aIer o o oo o9° o o o) [eNe X))
e (ACTIVE AREA) [ 1 10 °°°1 [geee {g@ s 75
= R o 333 (3388 ) ° L
Looo/ \ao0 00/ ° o C R
270 ] o o
H (ACTIVE AREA) 3] o5 0" o o o | oo |
,4,4‘3 ® Og o 888 111 | S— 1 1| — 11— 1] =
2 el Plees L - -
o2 GIEE ] &
\ J) @ o T & _ o @
N @E 5o~ [ojp [0~ Pl Al
- = 4133 Qéé;:iii:::::fgg"
NOTED DIMENSIONS ARE FOR NON-TOUCH R FRONT PANEL
ACCUTOUCH, AND INTELLITOUCH ONLY.
FOR SECURETOUCH AND INFRARED, PIP NUMBER PIP DESCRIPTION MATERIAL “A” “B” COUNTRY
ADD 3.5mm TO EACH MEASUREMENT. SR
ELO-PLATE I 7-MODULAR | >Mmm
D/4916-000 ALUMINUM 437 360 | USA
MODULAR LCD BLACK ANODIZED
) i 2mm THICK
C15502-000 |ELO-BEZEL-T/MOD STAINLESS STEEL 438 | 362 |EURO ONLY
-SoT2-BK BLACK POWDERCOAT
DIGITAL ANALOG r84586-000 |CLY BELEL-TIMOD STRINLESS sTEeL | 438 | 362 |FURO ONLY
VIDEO VIDEO TS T BRUSHED FINISH
rafffft%;r——~1r2¥¥ﬂg ﬁm'” = b USE WITH ELO MONITORS
B = NERE P/N DESCRIPTION
207124-001 |ETI1747L-6CWF - |
TOUCH TOUCH
INTERFACE INTERFACE CoNNecTon 238212-001 JETI 7471 -7CWF - |
USB SERITAL 136650-001 |ETI1747L -8CWF - |
ESS5776-001 [ETI17470L-9SWF - |
D45620-001 [ETI1747L-9UWF - |
D55621-001 JETI747L-0NWF - |
FOO355-000 |ETI747L-1SWF -
SHT. 3 OF 5
TOUCHSYSTEMS
MS500485
DIMENSITONS ARE IN MILLIMETERS/INCHES DATEEC--NEV-OS




FRONT MOUNT
PLATE CUT OUT

453
+
4\90
+
3420
— -+ -+
— < +
- 10
HORIZONTAL
INSTALLATION

N @elr—aal B® (as 'al® N\
o]

S
[
0000000000000000 ]
©06000000000000
0000000000000000
0000000000000000

000000000000000 0000000000000000
] 0000000000©00000 0000000000000000

000000000000000

NOTES:

. ALL DRAWING CENTERS ARE THE CENTER OF VIEWABLE AREA OF THE LCD PANEL.

2. |IF CUSTOMER KIOSK MATERIAL

IS WOOD:

@4.5 mm HOLES THRU FOR M4 SCREWS,
OR NO THRU HOLES, SCREWS FOR WOOD ©4 mm

3. IF CUSTOMER KIOSK MATERTAL

IS SHEETMETAL:

CONCEALED HEAD THREADED STUDS M4 WITH NUTS.

DIMENSITONS ARE

IN MILLIMETERS/ INCHES

+
4\90
10
+ +
+
. 3420
+ +
VERTICAL
INSTALLATION
A
SHT. 4 OF 5

TOUCHSYSTEMS

MS500485

DATE: 14-Nov-05

REV: E




RACKMOUNT
MODEL ET1747L SERIES
FOR 19° COMPUTER RACKS

NOTED DIMENSION IS FOR THE NON-TOUCH
ACCUTOUCH, AND INTELLITOUCH ONLY.
FOR SECURETOUCH AND INFRARED,

ADD 3.5 MM TO EACH MEASUREMENT.

485
389 58 ==
~ - i — ] RACKMOUNT i
- 2 = . "SEE TABLE" i 5
) o 34| 210 m o
3 108 | 46
(ACTIVE AREA)
, , 266
o o .Iv R o ‘
L . L [ L t@x 7
|3 J s = 338 - J%w N
REMOTE (ACTIVE AREA)
0SD -— 3¢
CONNECTOR
DIGITAL RACKMOUNT
. ONN&%% PIP NUMBER PIP DESCRIPTION
D34976-000 ELO-TT7INCH-RACKMOUNT-BKT
I I USE WITH
ELO MONITORS
POWER ANALOG TOUCH
CONNECTOR VIDEO INTERFACE P/N DESCRIPTION
CABLE USB OR SERIAL 207124-001 |ET1747L-6CWF - |
CONNECTOR 238212-001 |[ET1747L-7TCWF - |
736650-001 |[ET1747L-8CWF - |
F85776-001 |ET1747L-9SWF - |
D45620-001 |[ET1747L-9UWF - |
D55621-001 |ET1747L-ONWF - |
F90355-000 |ETI747L-1SWF-|
SHT. 5 OF 5 TOUCHSYSTEMS
MS500485
DIMENSTONS ARE IN MILLIMETERS DATE: 14-Nov-05
REV: E




